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WEST BENGAL STATE UNIVERSITY
B. Sc. Programme 6th Semester Examination, 2A24

ANTGDSE03T- ANtnnoPolocy (DSE2)

Nnw AND OLD SYr,r"agus

Time Allotted: 2 Hours
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The figures in the margin indicate full marks.

Candidates shottld answer in their own w-ords

an.d adhere to the v,ord limit as practicable.

Full Marks: 40

Et@3rfr4p "1frWffitowt
4frwtff4t frcw srT/-v vsf ryq{,tqflqF w*r
EelqRRr

5x2: 10

1.

(a)

(b)

(c)

(d)

NEW SYLLABUS

Answer any twtt questions frorn the following within 800- 1000 words each: lAxZ : 20

ftxftt"ls G-m'|rq'l ffr EffiK Ee< ne Q&F uoo -)ooo rslcq-{ {c$3

What do you mean by human grou(h, maturation and development? Briefly 6+4

explain how social-cultural factors influence human growth.

$Te<< Ifr, frspt s 'tRqsot <-q'cs fi mtc<ll ? fruim {r{et< 1frN {mf&<s-
cKTB-s U{nrqefr-< ersr<fr-q< +T< vK <fiqfi nentr

Write a brief note on different methods of studying human growth. l0

ria-<-{fr q<Imrr< fr&a la&qfrR q\rq'c'f mlrll't +-cil r

Briefly discuss about the features and significance of distance and velocity 6+4
groxlh cun/es with suitable diagram. What are the different stages of post-natal
grorirh in human?

rftTq Fy <e. .e<( F t <'q'-q<?<FEI s E-tq{qtcelu-{t <rc<l r qf{< qm< 
"l<_ffi $<

frGn +fucfrfrfr ?

Define Somatotyping. Classif,'- human somatofype based on Heath-Carter's 2+8

system of classification of human physique.

ffiNirilbRf"f(-,s< q(Bf qts i Qq-o.6-<-e< {-stTffC( {lT-< {A(<K crlfl6FR?R-q<
eftRTrqocntr

Answer any two questions from the following within 250-300 words each:

FrEfrFNo c{-c<Flffi fF er{K B€-{ k'ls qffi qco-soo "|(<rr:i-c{13

(a) Write a short note on "Malnutrition".

'q1@'-K E"t< esF c(frq frot cEc.[ r

(b) What are the different stages of pre-natal growth in human?

rF< q-{tdrq 1GK ReH q{reF fr ft t
(c) Write a shorl note on "Kwashiorkor".

'56'ffisa-5-a' qntlffi'qrcE q(frg fr1-E1 66111

(d) What do you mean by adolescent growth spurt?

trorff<-.{R Ifr ffiv re,'6o ft' mlmll t

2.
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3. Answer any /ivequestions from the following within z54lwords each;

FHfrfeM c{-crl6{t qtrf qr{{Bq*nts qffi qc-'ro "rcqr r"c<js

(a) What is catch-up growth?

srtD-qt{ 1k ntce <co 7

(b) What is Community Nutrition?
maq1n "I? o[T Trq. ?

(c) Write down the full form of BMI.

BMI-,{B T(nt qn mccfl t

(d) What is Senescence?

nf,+i El&fr r
(e) What is Marasmus?

{ir{ExrqstF<Fr ?

(f) What is Nutrition?
opa635a z

(g) What is Canalization?

slllq,.qqcq.fi slm <cE 2

(h) Write down one index of Nutritional Anthropometry.

1ffis1fr&< qsBWsmc<tr

(i) What is Scammon's growth curves?
g1ffi-,96 $ <ffi-4t $1m <(6r ?

4. Choose the correct option from the following questions

FHfrRs epefr'( sc[, q6-s Eg{E fr{u-t +rate

(a) The value 7-1-1 is what kind of Somatotype

(C) Mesomorphy

r-)-) THF ffiRs 6sr{ {<(Td cqqel+t<

(A) er.ffi (B),qrsffi '

(b) Ricket is a deficiency of
(A) Vitamin-A (B) Vitamin-B
ffiE*sirr<EFreffFq
(A) ffitfr+A e<wry
(C) &ttfrr-6 qq qqr

(c) Salt is iodized to prevent

(A) Marasmas (B) Goitre
arqq qLq.f&WqT..qE erfuqH silErq-$
(A) qrBtqffi 6r; Axrm

(d) Hyperplasia is a/an

(A) increase of cell number
(C) decrease of cell number
qR"n<atftsr qE

(A) cs.rcffi rK*trt 1&'
(c) rslcffir1(trsem

(C) fficqlqffi to i mr;ltR a"s

(c) c'lrm'sr (D) \srtfrfirt

1x5:5

1x5 = 5

(B) Endomorph)'
(D) None of these

(C) Vitamin-C (D) Vitamin-D

(e) ffitfr{-B qrqil
(o)ffitfr{-D erq-*l

(C) Pellagra (D) Anaemia

(B) increase of cell size

(D) None of these

(B)mlffiqtxrwIfr
(D) coftqfrQ;w
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(e) Heath-Carter method of somatotyping was developed in the year of
(A) 1e6o (B) 1e67 (c) less (DJ 1980

Qet-sM{-qa cqEffi'FEPR.sr E&St els qr
(A) )bso (B) )bEl (C) lbaa (D) rnvo

OLD SYLLABUS

Answer any two questions from the following within 800-1000 words each: l0x2 = 2A

ffif?E c{-mlrfl Ef eca< E-w qts e&F ts oo -) o o o "rcq-< {cq's

(a) Detine Somatotyping. Classify human somatotype based on Sheldon's system of 2+8

classification of human physique.

mniffiFRin\-q< q(w.t rts I c*r€-c{{ Tst$lr-< Tr{< {A(< cqnildFlEPR*sa G$ftR-q]'E

+r<l r

(b) What is Nutritional Anthropometry? Briefly discuss the different lvpes of 2+8

nutritional status in human.

$Cfss qfrB flm <ra ? "IE&G< fr&n sK{ q'affiq[-{tr-{t $Kl1

(c) What do you mean by human growth and development? What are the different 4+6

factors responsible for human growth?

x.r+-{ Th s R'ot'.t <q"cs fr mlc<lt t {l{< 1GK fr&x +mqefr Brmq orst r

(d) What do you mean by growth curve? Briefly discuss about the f'eatures and 2+8

significance of distance and velocity growth curves with suitable diagram.

@ <-e <ocs fr cfiilt ? (<y <@ 'e et& <rs-{ ?={FB e vte,a{1M qimfu-{t

FC<TI

2 Ansu'er any two questions from the following within 250-300 words each:

FiEj"Fle m,-m]-64f ffi eA< SsT q.ts E&F tao-soo 116{-{ xc<ls

(a) Write a short note on Kwashiorkor.

m'mfFre<+<-q< E"f< c(frq fto o,6"x 1

(b) Discuss any two methods of human growth.

Ti{qB q<llxm{ G-csl-.dl E?B "mr& 
q-effiqr6a16{t smll

(c) Discuss about pre-natal grou'th of human.

sr+{w{tfr€l1fr q-alrdffir<.|1

(d) Differentiate between growth and maturation.

1fr e< qRqw'K :rc$ {efsl fi-s{q s'6st r

Ansu'er any Jive questions from the following within 25-30 words each:

F15ftfts R-6qfffi qfu-Eecfl{ U-s< q.ts qBF qc_rto rlrT{ E(<j's

(a) Srhat is post-natal growth?

w{'lT{q1frT.l(T<Cf, ?

(b) What is Community Nutrition?

c€rq'Rr 1fr orco <a t

5x2 = 10

1x5:5J
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(c) Write down the formula of BMI.

BMI fr"fm{ 1rFErmorrtr
(d) What is Senescence?

<tf,sl eil&s[c<rrrq'?

(e) What is malnutrition?
qlBsfrr{ffi ?

(f) What is Catch-up-growth?

slD-qt41fr's'l"r$ <6r ?

(g) Define Adolescence Growth Spurt.

tsmffi 1fr c<t-e< q\G't qt€ r

(h) What is Cross-Sectional method of studying human growth?
qE(qk nfm ffi< Ifr qafr oEo <-rq I

(i) What is over-nutrition?

EB'"dBotrc{@r ?

Choose the correct option from the following questions:

firu< q{sfr cqrs qfts ffi fi'{i6;1a61s

(a) The book 'Fetus into Man' was written by -
(A) E.B" Tylor (B) J, M. Tanner

(C) W. H. Sheldon (D) None of them

'Fetus into Man' frF ftel&rEq -
(A) t fr. At< (B) er. q{. br{r{
(c)g-{. qEu. c{ru-{ (D) mEtcq

(b) The value 1-1-7 is what kind of Somatotlpe?
(A) Ectomorphy (B) Endomorphl
(C) Mesomorphy (D) None of these

)-)_c ${F FFfrFM FT{ $T6l-{ &-qerf,f{ z

(A) €rBmff (B) qrsuffi (c) crcqF{ff (Dt m'nfrq*
(c) Marasmus is a-

(A) Protein-energy malnutrition (B) Vitamin-A deficiencl.

(C) Vitamin-B deficiency (D)None of these

{il-{Mnr{{f,-
(A) c'stB{-qqtffiqtE (B) ffiifr{-A q-nsi

(c) ffift{-B T'fls't (D) cotcilmrr

(d) Which of the fbllowing is a factor that influences growth and development?

(A) Heredity (B) Environment (C) Nutrition (D) All of these

fr66< mnF 1fr e Fo.nm erotRs +r< t
(A) <i"tet& (B) tRr+t (C) 1E 1p) {{-sF

(e) Sheldon classification was established in the year-
(A) 1e20 (B) 1e6o (c) le40 (D) 1e7o

rr6,rsr+< cEftRvtrt qG6s qc-TRE-

(A) )blo (B) )bvo (C) )bso (D) )bro

-x-

1x5:5
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